
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplicare per potenze di dieci ( numero mancante
)

10, 888 × ________ = 108.88 3, 814 × ________ = 38.14

8, 64 × ________ = 8640 4, 199 × ________ = 4199

6, 014 × ________ = 601.4 1, 044 × ________ = 10.44

8, 937 × ________ = 8937 4, 453 × ________ = 4453

3, 382 × ________ = 33.82 8, 246 × ________ = 8246

6, 802 × ________ = 68.02 1, 774 × ________ = 17.74

8, 566 × ________ = 85.66 8, 812 × ________ = 8812

9, 825 × ________ = 98.25 4, 008 × ________ = 40.08

6, 031 × ________ = 6031 7, 128 × ________ = 71.28

8, 621 × ________ = 862.1 3, 624 × ________ = 36.24
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplicare per potenze di dieci ( numero mancante
)

10, 888 × 10 = 108.88 3, 814 × 10 = 38.14

8, 64 × 1000 = 8640 4, 199 × 1000 = 4199

6, 014 × 100 = 601.4 1, 044 × 10 = 10.44

8, 937 × 1000 = 8937 4, 453 × 1000 = 4453

3, 382 × 10 = 33.82 8, 246 × 1000 = 8246

6, 802 × 10 = 68.02 1, 774 × 10 = 17.74

8, 566 × 10 = 85.66 8, 812 × 1000 = 8812

9, 825 × 10 = 98.25 4, 008 × 10 = 40.08

6, 031 × 1000 = 6031 7, 128 × 10 = 71.28

8, 621 × 100 = 862.1 3, 624 × 10 = 36.24
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